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Who was the writer of ‘Desan Mein Des
Haryana' ?

(A) Lakhamichand

(B) Uday Bhanu Hams
(C) Dayachand Mayna
(D) None of the above

Biggest State of India In terms of area Is
(A) Maharashtra (B) U.P.
(C) Rajasthan (D) None of the above

The amendments which have created
uniformity in the structures of Panchayath Raj
and Nagarapalika institution across the
country are

(A) 74and 77
(C) 76 and 42

(B) 73and 74
(D) 21 and 61

Internal communication within Institutions
is done through

(A) WAN (B) LAN

(C) MMS (D) EBB

Select the word which is least like the other
words in the group.

(A) Othello
(C) Oliver Twist

(B) King Lear
(D) Macbeth

Gurudwara Dhamtan Sahib was built in
the memory of

(A) Guru Gobind Singh
(B) Guru Nanak

(C) Guru Tegh Bahadur
(D) None of the above

In front of a concave mirror, an object is placed
atadistance d, from the focus and the real
image Is formed at a distance d, from the
focus. Then the focal length of the mirror is

(A) Vdid2 (B) dd,

(di+d2) D [d
(C) i (D) %z

. TEE MHAT TR

D—

(TR A O
% 1 ¥ e’ ¥ draw AR A 7
(A) iR
(B) 37 Wi ¥H
(C) =uT=Ee W
(D) I i { wré el
et 3 wend H e W e T @
(A) WIS (8) ‘lz‘f‘-u .
(C) TEAA (D) I H AW T

Wt g, T SErEd T AV T Wewrad
& e § wET ST JaE §

Ay 74377 (8) 73374

€y 763042 (D) 2136

dearat ¥ it SATAiER wHAm
mmﬁﬁ-‘m:ﬁm%l
(A) WAN (B) LAN
(C) MMS (D) EBB

. e TR g S wE A 271 IR @ FEl

Fa e R |
(A) Nde
() 3nfem Raw

(B) W& eiian
(D) ¥=Fad

_ wwd

T T |
(A) T ifeE fw
(B) &AM

(C) % T =FRIgY
(D) 3% ¥ | I3 T

U e Q4 3 I T aw SiFa a6

{ﬁmr@nﬁﬁaﬁtmﬁ%uﬁﬁadzﬂ

Qe @ | | 20 ) i a1 ¢

(A) Jdd, (B) dg,
(dy+d,)

c) 11 2/ d

(C) 5 (D) %2
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8 Which of the lollowing States has a separate

10.

11.

12.

13.

14,

Constitution ?
(A) Jammu and Kashmir
(B) Nagaland

- (C) Karnataka

(D) West Bengal

~ Which of tha following Is not a world

heritage site in India ?
(A) Ahmedabad city
(B) Hampi group of monuments

- (C) Beluru-Halebeedu sites

(D) None of the above

Phalgu fest is held in Faral village on
(A) Nirjal Ekadashi

(B) Somavati Amavasya

(C) Kartik Purnima

(D) None of the above

Who is the current Speaker of Haryana
Legislative Assembly ?

(A) Abhay Singh Chautala
(B) Manohar Lal Khattar
(C) Kanwar Pal Gujjar
(D) Santosh Yadav

represents billion characters.
(A) Megabytes (B) Kilobytes
(C) Terabytes (D) Gigabytes

Baisakhi is usually celebrated on
(A) 14" of April (B) 25" of April
(C) 1*May (D) 31 December

ple, 100 people like
Apple juice, 150 like Orange juice and
75 like both. The number of people who
neither like Apple nor Orange is

(A) 100 (B) 250
(C) 175 (D) 225

In a survey of 400

The person who is unanimously regarded
as the founder of Modern China.

(A) Sun-Yat-Sen (B) Guomindang

(C) Mao-Zedong

(D) Deng Xiaoping

3-

10.

1.

12.

13.

14.

15‘

312018 (2)
(A) 03 3ftt FHHin '
(B)
(C) FAlEH
(D) ufzem s
Frefirfira i & -1 v i v Fare
forraa vaa T R 7
(A) STEHETETE TR
(B) TICH T TR
(C) Heps -BHTg 1uw
(D) ¥ T @ T 7l
FEATM G IFE_ mEm e
(A) faster v
(B) WHad! HuTEEN
(C) mﬁa«‘t{ﬁh
(D) 3% & A F7§ FE
i fauma F IdrA e e R 7
(A) 3 fae e
(B) TATE €A W
(C) T 9T TR
(D) Hdl AE
_ fafrm Smrd T R
(A) HTTETEE (B) fereiramses
(C) (D) frmETEE
et wm: % 7T € |
(A) 14 2% (B) 25 31«
(C) 1w (D) 31 feEm
400 S % UF waAw §, 100 A F {E
1 7@ 9EE 2, 150 1 A0 @0 @ ye @ 3l
75 1 o T8 TEE § | A3 =, T A
=1 T8 T6E F At @il ol e 8
(A) 100 (B) 250
(C) 175 (D) 225
I safd foaQ aauraa @ sgfE 97
[EAH WA A1l
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16. World's only habitat for Asiatic lion found in

17.

18.

18.

20,

21,

which of the following National Park ?
(A) Bandhavgarh National Park

(B) Gir National Park

(C) Mukurthi National Park

(D) None of the above

Constructors are used to
(A) Construct the data
(B) Initialize the object
(C) Both (A) and (B)
(D) Neither (A) nor (B)

The mean of the first ‘'n’ natural numbers is

(A) n+1 (B) n(n2+1)
(C) g (D) None of these

On 22 January 2015, PM Narendra Modi
launched the ‘Beti Bachao, Beti Padhao
Yojana' in which of the following city of
Haryana ?

(A) Kurukshetra
(C) Chandigarh

(B) Panipat
(D) Panchkula

A magnetic needle lying parallel to a

magnetic field requires W units of work to
turn it through 60°. The torque needed to
maintain the needle in this position will be

B Fw ® Lw
C) w (D) 2w

Rahul told Anand, "Yeslerday | defeated

the onl

grandn{o?rrlglgfe rvs:w:)hr: gg’u gtlfélcger}:eyat ?
(A) Son (B) Uncle

(C) Brother (D) Cousin
Gangaur is helg in the honour of goddess
(A) Sarasway (B) Lakshmi

(C) Gouri (D) Radha

16.

17.

18.

19.

20.

21.

-
e —

LT
uferard 910 3 fore forea 1 et o s,
fFrafafaa d 8 frm via STt g 7
(A) AT T I
(B) P uig sem
(C) TFHi g 3um
(D) I # & wrd AE
FRFA_ wvgEERE
(A) IFFE T3 )
(B) tm‘gmum
(C) (A) 3 (B) 2
(D) A (A) 7 (B)

WIH ‘1’ Wit Femai @ A §

A) 25._1 (B) n(n + 1)

(C) g (D) AT
22 ST 2015 I, IO Tz G 3

' Tal, 3 ygIei g i &
Frefafen & 4 frm e i g 7

(A) ?_-6%3 (B) UHTTa

(C) =3z (D) waFan
@ﬁa@miﬁa%mwgwﬁaﬂ

Fl 60° qRM F foe w e =9
ST R | g T v Rl o s w
& foru Tiftser et arer 2

5

(A) BW ) —}w

€ w

g a1 A, e B A A A
3 Tt w3 v | e 3 el

(D) 2w

(A) T3 (8) =

(C) wi§ (D) == wré
iR & F TH B T S
(A) W (B) weh

() = (D) T

Searined With CamScanner



100 L

23. 'Complete the analogous pai.

25.
26.
3
R
cl
l
|
27.
el
¥
k| 28,

Bird : Fish : : Aeroplane : ?
(A) Submarine (B) Ship
(C) Boat (D) Crocodile

-r‘,-ao water taps together can fill a tank in
9= hours. The tap of larger diameter takes

10 hours less than the smaller one 1o fill
the tank separately. Find the time taken by
the tap with smaller diameter to fill the tank
separately.
(A) 25hrs.
(C) 15hrs.

(B) 20 hrs.
(D) 18 hrs.

: is a lolklore Museum situated
in Gurugram.

(A) SriKrishna Museum

(8) Jahaj Kothi Zonal Museum
(C) Urusvati Museum

(D) Dharohar Museum

The countries who have been considered
as the founding members of ASEAN, are

(A) India, Malaysia, Philippines, Singapore
and Thailand

(B) India, Malaysia, Philippines, Singapore
and Nepal

(C) Indonesia, Malaysia, Nepal, Singapore

and Thalland

(D) Indonesia, Malaysia, Philippines,

Singapore and Thailand

is the current Chairman of

Haryana Public Service Commission.

(A) Manbir Singh Bhadana
(B) Narendra Singh Tomar
(C) Ajay Sura

(D) None of the above

100
\ (-1;1) =a+ib, then (a,b)=

1+
(A) (-1.0) @ (0.-1)
© (.1n ©) (1.0

23.

24,

3/2018 (2)
gwEy g ol |
wefl : woeh ¢« wATS AW L ?

(A) wE=N (B) T

% (D) =g

2 i) 3 A OF 2R W oS 93 | v wEd
P Ry

§ | 2 v B T 3 for ) s e

) qamwmma:an 10 T2 1 A1 B | Za

26.

27.

a&m%“ﬁ#ﬁ’ﬂ{ﬁﬁmmmm
(A) 2572 (B) 20%¢

(C) 154 (D) 1872
_memm # o -
TEEE e |

(A) % T BUREE

(B) T I WeEed HIEErd

(C) I&=ail BUEGd

(D) TN HIETET
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1 A I e .

(A) mlqaﬁm.w.mm

(B) %mwmm

() isﬁﬁm.n%ﬁm.&ma,%msm
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(D) :‘iﬁﬁm:qﬁﬁm,w.m

aft areErs

mﬁmﬁmm%aﬁmawa
R

(C) =T
(D) I it & =i Tl

1j\1o° g .
.8, afz (1] =a+ib &7 (ab)

1+| prrer 4
(A) (-1,0) (B) ©.-1
) (1.1 o (1.0
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29,

30.

31.

33.

34,

35.

is
If line Joining P(12, 8) and Q(24. x)

is
parallel to X-axis then the value of X1
(A) 8 (B) 12
© -8 D) 6

Name the primary CO, acceptor in mesophyll
cells of C, plants.

(A) Triose phosphate
(B) Phosphoenol pyruvate
(C) Ribulose-1, 5-bisphosphate
(D) Oxaloacelic acid
is a type of memory circuitry

that holds the computer’s syslem software
such as Boot loader,

(A) RAM
(C) RIM

() ROM
(D) Cache

Origin of Species by means of natural

-selection was given by

(A) Lamarck (B) Linnaeus
(C) Charles Darwin (D) Erasmus

In a C++ program, members of class are
by default

(A) Public
(C) Protected

(B) Private
(D) None

Mahatma Gandhi was first arrested in this
railway station of Haryana

(A) Palwal (B) Panchkula

(C) Kalka (D) Amritsar
is the present Lokayukta of

Haryana,

(A) Pritam Pal

(B) Justice Nawal Kishore Agarwal
(C) Kaptan Singh Solanki
(D) None of the above

Which element is deficient in milk 2
(A) Potassium (B) Calcium
(C) Iron (D) Magnesium

30.

31.

32.

36.

-

llullllllnll

af2 P(12, 8) 3 Q(24, X) W Sirgy |
X178 3 AR, A x gy
A)°8 (B) 12

©) -8 =
C‘Mﬁﬁa}ﬁmﬁﬁmaﬁﬁw%

g 1 A TR | '

(A) IS HIERE

(B) ﬁmm'

(C) rrs{éﬁ'ﬂ-LS-m

(D) TSR I

_ v} ufme U w3
F@R |

(A) RAM (B) ROM

(C) RIM (D) F

STt JATE 510 WAl =1 37

zra fean |

(A) omrh (8) <hifm

(C) =g zifdq (D) $t=m

UH C++ Wm #, =1f & wewm fewies v
T_ ¥

(A) | (8) fr=h

(C) wif&m (D) =r$ i

wETe e i et an w3
héésmﬁﬁrmuﬁrmnmml

(A) Ueaw (B) 4

(C) e (D) 3mgear

au W fFm aa i f 7
(A) urfirm (B) Hfcemm
(C) e (D) 1Ry
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37. Co-operative larming become more

39‘

40.

41.

42.

successful in
(A) Denrmark (B) Australi
(C) USA (O) incia®

Number of banks nationali
1969 Is ized since

{é; :2 {g; :\l%na of the above

Who is empowered to suspend
operation of Fundamenial Rﬂﬁghli;hg

(A) Parliament (B} Supreme Court
(C) President (D) Prime Minister
Kalpana Chawla, the first woman of Ind
origin to go to space was bormn in this r;)cll;r::r;
(A) Kamal (B) Hisar

(C) Kurukshetra (D) Panipat

If x, 2y, 3z are in A.P., where x
distinct number and are in G.P.'.sl'hgr? ;ge
common ratio of the G.P. is

(A) 3 (B)

| = W=

(C) 2 (D)

This district of Haryana has highest number
of Vidhan Sabha constituencies

(A) Gurugram (B) Panipal

(C) Hisar (D) Yamunanagar

Which of the following do you feel are
compatible with the idea of secularism ?

(A) Recognition of State religion

(8) Dominatlon of one religion

(C) Equal State to support all religions
(D) None of the above

Recently Central Government released
UMANG app, It is for
(A) Online banking

(B) Single window platform for all e-Gove,

Services

(C) Registering child sexual abuse
cases

(D) None of the above

37,

39.

40.

41.

42.

3/2018 (2)
el i A g e g
(A) B3TH (B) mia2ferm
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1969 ¥ W@ A T 7o, Fa o) 3wy
(A) 18 (B) 19 |
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47.

48.

49,

50.

12018 (2)

his sarovar has a
According to a legend, ! its use by

citin
mention in Mahabharata gn Jor water

odhana to hide himself U

Du
on the concluding day of the war

(A) Bhimkund
(B) Brahma Sarovar
(C) Surajkund
(D) Hathnikund

How many 2 digit even numbers can be

formed from the digits 1, 2,3, 4. 5. if the

digits can be repeated ?
(A) 10 (8) 8
(C) 25 (D) 24

AnASCllis a character-encoding scheme
that Is employed by personal computers
in order to represent various characters,
numbers and control keys that the computer
user selectson the keyboard. ASCIi stands

for

(A) American Standard Code for
Information Interchange

(B) American Standard Code for Intelligent
Information

(C) American Standard Code for
Information Integrity |

(D) American Standard Code for Isolated
Information

Haryana was the first State in the'country
10 achieve 100% rural electrification in
(A) 1947 (B) 1955

(C) 1970 (D) 2000

The radius of Ge nuclide is measured lo'!
be twice the radius of ,Be®. The number of |/

nucleons in Ge are
(A) 7 (B) 72
(C) 73 (D) 74

If Z = 52 and ACT = 48, then BAT will be
equal to

(D) 46

l

(C) 44

46.

47.

, 7 T TR F Sify
=1 TEL 3 A fogy

(A HEE (B) 7O W 3
©) TEEE (0) wfwrfigs 52..

afe 3 A A < 1 FFA & A I
1.2.3,4,5@&\?@2?@@““@
s S wE © !
(A) 10
(C) 25

s ASCIl TF =TT T B, A
e s 7w fafie e, HEm
it o St 2 o 29T B STRT A1 @ 3K
ﬁ%éﬂ@tu&mﬁé\émwm% | ASCII
=1 W &

(A) syirfre s W B FHATA

(8) 8
(D) 24

3T
(B) SR 2d Fre B e .
2
(C) S Dot wie B FhuTR 2d
(D) ST DTS F1E TR IFERICS

R

g 1 100% e fergge et
Y SFaTeT 271 1 TEe T 1 |

(A) 1947 (B) 1955

(C) 1970 (D) 2000

Ge 1o i B Be° 3 firsan i A

AR | Ge H 1 1 HE
A M (8) 72
©) 78 (D) 74

““_ 19 19,
af-‘azf.sz--atmc'rﬂa%,ﬁlammm%
(A) 39 (B) 41
(C) 44 (D) 46
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57.

55.

56.

(D) None of the above

Yonr i
The interaction between sea anemone that

has stinging tentacles and the clown fish
that lives among them, Is an example for

'A) Mutuallsm (B) Amensalism
iC) commensalism (D) Parasitism

paw' is related to ‘Cal’ in the sa

‘Yoof' is related to e way
:A) Horse (B) Lamb

(C) Elephant (D) Lion

Shivalik hills are present in the
~ant of Haryana.

A) West (B) East
(C) North-east (D) South-west

Which of the following is a floored di
in python 3.0 ? division

(A) / 8)
(C) % (D) -

Value of k in the quadratic equation
2x“+kx+3=0$othatithas§equal roots is

(A) =4 (B) +2V6
(C) =3 (D) None
Bhagwat Dayal Sharma was representing

constituency when he became
the first CM of Haryana.

(A) Bhiwani (8) Tosham
(C) Pataudi (D) Jhajjar

Non-Performing Asset (NPA) which is

making headline from past several years, |

is associated with

(A) Insurance corporations
(B) Banking establishments
(C) Corporate companies

The Constitution of India provides reservation
of seats for SCand ST N Lok Sabha. Initially
it was made for 10 years. Now it has been
extended up to 2020. As on 1 September,
2012 the number of seats reserved in Lok
Sabha for SC and ST aré

(A) 84and 47 (B) ag and 27

(C) 44 and 37 (D) None of the above

-9-

52.

53.

55.

56.

57.

58.

3/2018 (2)
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59. I"P, =840, "C,=35.then =
(A) 6 (B) 24
(C) 4 (D) 5

61.

62.

63.

d by many genes

haracter determine Y S
Aghera ole variation is

and does not show discr
known as

(A) Qualitative character
(B) Oligogenic character
(C) Quantilative character
(D) None of the above

The mean of six observations IS 8. Il each
observation is multiplied by 3. then new
mean becomes

(B) 8

(A) 11
(C) 48 (D) 24

If the word CAPITAL is wrilten as
DCSMYGS, how the word NATION is
written in that code 7

(A) OCWMTT (8) OBVLST
(C) OBUJPU (D) OCLML
First Clone Dolly was made in

(A) Sheep (B) Goat
(C) Cow (D) Buftalo

Hawa Singh won the Asian Games gold
medal in consecutive editions of the
ames In the 1966 and 1970 for which of

the following games ?

(A) Weight lifting  (B) Boxing

(C) Running (D) Badminton
Which of the following States or Union
Teritories has highest density of population ?
(A) Delhi (B) West Bengal

(C) Maharashtra (D) None of the above

Tangri river is a tributary of
(A) Yamuna (B) Ghaggar
(C) Ganga (D) Markanda

59. afz "P,=840,

60.

61.

62.

65.

Qa;?gﬁwﬂﬂmﬁ

ARy

PC’ =35 ﬁ, ?ﬂ r=
(B) 24
(D) S

_fy <fm T Fifa 2 g

(A) 6

(€ 4

Sit @gd

—_—

FeAra ¢ |

2 | afe v T
M ECIR:
(B) 8

(D) 24

. qAAeuT 1 A 8
= 3 Tun foRa A,
(A) 11
(C) 48

aft CAPITAL 1% 1 DCSMYGS feran
S @, Al NATION 7752 @ 36t 2 1 44
@ smon 7 O
(A) OCWMTT

(C) OBUJPU

qEel i Siei

(A) W%

(C) ™4

T e 1966 31 1970 3 TTaR TR Ea
i =0l yew Frerfaftaa 1 A fra @ o < 7

(A) W (B) HFhaTh

©) A3 (D) ¥efirea
feferfiaa 3 frm a1 s wiva w20
1 e aee 3tftean @ 7

(A) feeeh (B) qfFm =
(C) WETIe (D) 3§ & & T

(B) OBVLST
(D) OCLML

rEccill
(B) @F
(D) =

66. e B e R

(B) =
(D) Wi

(A) TgT
(C) T
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67,

69

1 unsolicited e-mail message sent to many

- _.<cipients at once is a
0\ Worm

(B) Virus

(D) Spam
~aw many Schedules a

qansri:ungn ? @ there in the
14) 395 (B) 12

(c) 19 (D) 10

Gandhiji began his walking from :
Ashram towards Dandi on Sabaramali

() 12 March, 1930 (B) 12 March, 1932

+C) Threat

- 1C) 12 April, 1930 (D) 12 March. 1931

7v.

71.

72,

73.

f"'_cnesl gold sol is
{A) Red
(C) Golden

in colour.
(B) Purple
(D) Blue

Consider the lollowing statements :

1. Cirrus clouds are formed at high
altitude.

2. Cumulus clouds are look like cotton
wool.

3. Stratus clouds are the layered clouds
covering large portion of the sky.
4. Nimbus clouds are black or dark grey.
Identify the correct statements,
(A) 1,2and3
(B) 2,3and 4
(C) Only 3and 4
(D) All the above

This King of Rewari was one of the main
leaders of the Indian Rebellion of 1857 in
Haryana

(A) Rao Sukhram

(B) Rao Tularam

(C) Rao Gujarmal Singh

(D) Rao Ruda Singh

POP3 and IMAP are e-mail accounts in

which . . 4

(A) One automatically gets one’s ma
everyday

(B) Oneryhas to be connected to the
server o read or write one’s mail

(C) One only has to be connected to the
server to send and receive e-mail

(D) One does not need any telephone

lines

67.

69.

70.

71.

72.

73.
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3/2018 (2)
AT 7 ¢ W] =l
Eﬁaﬁm% S T T SR
(A) Ff (ast) (B) amH
(C) wweh (D) #m
wfaum 3 et srgfwmi § 2
(A) 395 |) 12
(C) 19 (D) 10
mish 3 ) Wit S f
271 ) 3 wTE I1= Fran |
(A) 12WI9, 1930 (B) 129, 1932
(€) 1230, 1930 (D) 12w, 1931
AgaiE @ Hid mE e
(A) & (B)
(C) HE (D) =fren
frafafaa Fami o faam =t .
1. e FEg wam |
2. wqEl T A fram ¥
3. Tl U7 WEen A1ed B £ S S
& JEe M F S0 #a § |
4. =91 09 TS TN AR E )
T F gy |
(A) 1,233
(8) 2,334
(C) Fat 334
(D) I &l
@l F1 7 T ghEwn 7 1857 F WRE™
fose & g Aaaii 1 A ww 9
(A) TE gEm
(B) & gemm
(C) T4 ToRwa fie
(D) Ta %2 faw
POP3 3R IMAP ¥-Tret areise R formi
(A) T =1 30k B wfafem m: e s &
(B) Frel 1 a1f it W i v &
fore wet & g wgAT @
(C) Firet a1 et §-3m Wom i
T % foru wredt A 3 95 B
(D) Frelt = 18 ot fAw @y A
B CreemiE R EGi]
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74.  Biography of Harshavardhana, i 74. wia #) W{%@ ¥, S IHH Hay
"Harshac aritu'wms ’?ggggrﬁ)igg ggns d i ETlTamh 2
ggsc')cimlon wim\?rhgnosnr. e aftia (B) ET&'RTH
(A) Bhasa (B) Kalidnsa (A) wH (D) &
(C) Banabhatta (D) Dandi (C) =g —
75.  Human Development Index issued by 75. Wr@ ﬁ‘?ﬁg AR
(A) IMF (B) World Bank o smen # | g) faza =
f the above (A) IMF ( # 3 % 3¢
(C) UNDP (D) Noneo (C) UNDP (D) I
- 'W‘ ﬁ
76. Is used as a promoter inthe | 76. = ufiman zr smfan —f ‘ BT |
synthesis of ammonia by Haber's process, UF avieh & ®9 1 TgH
(A) Antimony (B) Arsenic (A) A (B) ATt
(C) Molybdenum (D) Iron (C) q’rﬁ.ﬁ@:ﬂ{ (D)
77. Haryanvi tradition credits ________ for 77.  aduE =i deft i ffa @R F 2 giEm
le;ysing the foundation of the present style Qg FIEA R
of Swang,
(A) Kishan Lal Bhaat (A) forer irer wie
(B) Pt. Deepchand (B) 9. diu=re
(C) Dayachand Mayna (C) =ar=e T
(D) None of the above (D) 3IFad | =Y T
78. The 4 term of a G.P. is square of its 78. U S Aroft w1 e a2 39 =9t g2
second term and the first term is — 3, AL N yE — 3 2,
then the 7™ term of the G.P is Aoft =57 7atug 2
A —aler (B) 2187 (A) -2187 (B) 2187
(C) 343 (D) -343 (C) 343 (D) -343
79. Complete the analogy. 79. wwET gui iR |
8:28:27:7 8:28::27: 92
u . - . .
(A) 8 (B) 28 28 (A) 8 (B) 28
(C) 64 (D) 65 %“ (C) 64 (D) 65
80. This po!iticim had a rare dislincl:lion of B0 T T = it Yo, roma 3k
serving as Minister in the undivided FA LT IR R o
Punjab, Rajasthan and Haryana ,! 3 i Hﬂ%‘@mmm ETE‘«?—THHII{F
(A) Bansilal L Taw
(B) Choudhary Tayyab Husain f'f (A) =TS
(C) Zakir Husain (gl Eﬁ“ﬁag:@
(D) Choudhary Yaseen Husain (C) s
(D) <hedt ameia g
81. I the sequence of number 81. wwIadi 5, 8, 13, x, 34, 55, 89 ¥ i
5.8, 13, x,34, 55, 89, the value of xis X FTOE 2
e 5, 21 (A) 20 ®) 21
(C) 23 (D) 29 (C) 23 (D) 29
«12.
IPRO;
RA
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g o
il -opitd st LN g2, UF RrEh @ A A ITTE I R | FH AFW
Ay 3 U A T T WAL B ] i
(A) 2 (B —~ 1 g
g A 3 B) -
© 2 (D) 0 3 N
4 © 3 (D) 0
. W i
g5, Which o th flgwing o an apon saurce | 83, Ry 8 ot g
(A) MSWord (B) WordPerlect Offi et & 7 .
(C) Kwrite (D) MS Excel o (A) TR (B) IETTHR m
(C) TR (D) T TR TFEE
84. gg?dg%mbﬂnzdsﬁri scblalned when 6" - 5n s 84, S;q -gsn 1 25 ¥ fnrfem w1 W W
| 2 (8) 10
(€) 1 (A) O (B) 10
| D) 5 (€ 1 (D) 5
g5. Nematode resistant tobacco plant is -
1 developed by a novel strategy called % qg_‘- mwmﬁm ﬁ'ﬁﬁﬂ—_—%:gﬁ l sl
(A) RNA interference A
B) DNA intert (A) ¥R . T, FECRE
(8) nterference @) &G P
(C) Green revolution ©) 2 Fif
(D) None of the above (D) & # ] =18 T8
6. ____receivedtheJnanpith Awardfor | 86. 1 2017 1 f&d =i @ 5%
her contribution to Hindi literature in 2017. e g TGS TEFR ﬁ‘-.ﬂ. |
(A) Vanitha (B) Shankha Ghosh (A) afr (B) ¥@ °Td
| (C) Pratibha Ray (D) Krishna Sobli (C) WM (D) Fom dred
, B
87. The number ;J( terms in the expansion of 87. ((2:( oy )4) 3 P i e o) w8
' 3y is
((2x+¥°) ) (A) 8 ®) 29
(N 8 8) 29 C) 28 (D) 12
(C) 28 (D) 12 © )
88. wmmmamm%m
88. The only person who acted asa caretaker : J
Pﬁ?ng ir?ister of India twice queE ¥ w9 1w R
(A) Devilal (A) ST
(8) B.D.Jatti e #.&.5@
(C) G.L.Nanda €) . @, 7
(D) Lal Bahadur Shastri (D) T FTETG
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English Language " g i
o el
Fill in the blanks with appropriate article. 9 ‘ i ?Hgﬂ |1 FIEh 27
| Fem o
S 89. Tagore was _ truly great poet. (A) T FTH (B) T HweR
(A) a C) Wy FE (D) i FR
) (B) No article needead ( arf ?
’ (C) the 96. ‘g e’ yETEl
s (D) an (A) WA &
= " 80. Thereis not man here who will (B) ¥mT S
nol support you. (C) == &
© an O et ©) s
S itabl bject, | 97+ o wmg i qw e wu &, 3 FA-m
upply suitable verb in agreement with its subject. e FEd § 7 ﬁ-ﬁ
91. The means employed by you _____ (A) aegeq (B)
" v € %= ik
(B) were 98. TF+ & = UHF qedH-dr Al ?
() is (A) e Hfy
(D) None of the above (B) v EfYy
92.  Sanskiit, as well as Arabic, ____taught ©) Frawf
::e;re. o (D) T Hfa
was are " 6
(C) were (D) have 9. TWH 1" 58 A B wm ey
Select th t ression { the gi bk :
@ correct expression from the given
options and fill in the blanks, (A) & Tz (B) & q%
(C) &g (D) T ug
83. He was much — _byhis loss, ) < .
(A) cast away (B) cast down 100. <1&%1 } e ATy Yy T8 FH-71
(C) cast off (D) call up AR 7
94. A religious hope a man in his (A) *maarey
trials., (B) = ar=y
(g) ::a_rs P (B) bore away (C) &qar=y
(C) bears upon (D) bears out (D) =% e
K
-14.
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